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Intro to Market Structures
Starter: Thinking Questions
Instructions: Test yourself with the below quick questions
What markets can you think of that have lots of firms in them?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
What markets can you think of that have few firms (or even one firm) in them?
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Presentation 1 – Intro to Market Structures
Complete the activities below so as to have a complete set of notes:
Definition: Market Structure
……………………………………………………………………………………………………………………………………………………………………………………
Diagram: The market structure continuum
	


Key Notes: Characteristics of market structures
Number of sellers Vs the number of buyers in a market 
Other characteristics that determine the market structure a firm operates in include:
The ease or difficulty with which new firms can enter the market (barriers to entry and exit)
The extent to which goods in the market are similar (homogeneity Vs differentiation)
The extent to which all firms in the market share the same knowledge
The extent to which the actions of one firm will affect another firm (interdependence)
Annotate: Annotate your above diagram to show how these characteristics tend to vary across the continuum
Definition: The Structure-Conduct-Performance (SCP) Model
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
……………………………………………………………………………………………………………………………………………………………………………………
Link-up Task: Match the different terms to their definitions and the relevant contextual examples
	Structure
	
	The characteristics of the market.
	
	Advertising, research and development, pricing behaviour (such as low prices to win new customers, high prices to take advantage of market power, or unrealistically low prices to eliminate competition), investment in new capital, product choice, collusion and cartel agreements.

	
	
	
	
	

	Model
	
	The results of the firms actions.
	
	Number of buyers versus number of sellers, the level of consumer demand, barriers to entry, technology, the issue of homogeneity versus branding and product differentiation, the extent to which all firms in the industry share the same knowledge, the level of interdependence between firms.

	
	
	
	
	

	Performance
	
	How firms in the market act.
	
	Price, productive efficiency, allocative efficiency, dynamic efficiency, product quality, technical progress.
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Description automatically generated with low confidence]Article Task: The SCP Model 
Instructions: 
· Read, highlight and annotate the article
· Complete the task
· Discuss your answers as a class
Article
According to the structure-conduct-performance model, an industry's performance (that is, the success of an industry in producing benefits for consumers) depends on the conduct and behaviour of its firms, which in turn depends on the structure of the market (that is, the number of buyers versus the number of sellers in the market). 
The structure of the industry itself depends on its basic characteristics, such as the level of consumer demand, entry barriers, technology, etc.  Of course, if we find that the market does not perform well, then government policy will be needed to correct the market failure.
To illustrate, consider an industry like pharmaceutical drugs to treat a rare form of cancer (like Peripheral T-cell Lymphoma, PTCL).  This industry requires a great deal of R&D and innovation, such that the average cost of production will fall as output increases (i.e. a technical economy of scale). Hence the industry will tend to have one firm, or possibly a small number of firms. And since the focus is on a rare form of cancer, demand is likely to be low, so perhaps there really is only room for one firm in the market.  Accordingly, the industry is likely to be a monopoly.  And in this particular case, the US pharmaceutical firm Allos enjoys a monopoly position over the drug Folotyn, which is the only cure for PTCL.

As such, the absence of any competitive pressure for Allos will mean the firm can charge very high prices, knowing that those who suffer PTCL have no alternative drug and, therefore, no choice but to pay.  This undermines allocative efficiency, since the high price will mean some PTCL sufferers who genuinely need the drug and are at least able to pay the marginal cost of production, will be priced out of the market.  On the other hand, the monopoly profits may lead to dynamic efficiency and technical progress, as Allos will have the financial resources to invest in R&D to develop even better drugs in the future.
[image: ]Yet if the government is unhappy about the high price of Folotyn for current PTCL sufferers, it can intervene in the market to promote allocative efficiency.  For example, competition laws may restrain Allos from charging an exploitative price; with investment subsidies or R&D tax credits, the firm may be persuaded to go ahead and innovate new drugs but without raising the price of Folotyn; or, by making it a prescription drug, the NHS can become the dominant buyer of Folotyn, with enough bargaining power to drive down the price and make the drug more widely available. 

The global pharmaceuticals market is worth US$300 billion a year, a figure expected to rise to US$400 billion within three years. The 10 largest drugs companies control over one-third of this market, several with sales of more than US$10 billion a year and profit margins of about 30%. Six are based in the United States and four in Europe. It is predicted that North and South America, Europe and Japan will continue to account for a full 85% of the global pharmaceuticals market well into the 21st century. Companies currently spend one-third of all sales revenue on marketing their products - roughly twice what they spend on research and development.
Task: What information can you give about the structure, conduct and performance of the pharmaceutical industry? How do these link to the basic characteristics? 
Structure: 


Conduct:


Performance:  



Find more resources at www.smootheconomics.co.uk
image1.jpeg




image2.jpeg
Table 4:  Global Pharmaceuticals Market Share: % Share, by Value, 2005

Company % Share
prizer s70%
Glaxosmitnkine 530%
Sanof.Aventis 550%
Novartis 500%
Oter 7a.40%
Total 100.0%
ource:Dasamerior oaTamoniToR]

Figure 4 Global Pharmaceuticals Market Share: % Share, by Value, 2005
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